
a) 2 600 m2   [mm2]
b) 0,09 km3   [m3]
c) 4,59 mg   [g]
d) 495h    [ d; h]
e) 0,1 cm   [mm]
f) 14 100 mm2   [m2]
g) 460 mm3   [dm3]
h) 0,2 kg   [g]
i) 7d 18h 4min    [ min]
j) 370 dm   [cm]

k) 50 dm2   [cm2]
l) 78,7 km3   [m3]
m) 8,1 mg   [g]
n) 1664d    [ r; d]
o) 1,56 mm   [m]
p) 0,78 m2   [km2]
q) 0,02 mm3   [m3]
r) 46,2 t   [kg]
s) 3r 358d     [ d]
t) 0,5 km   [dm]

u) 6 080 mm2   [cm2]
v) 0,85 cm3   [m3]
w) 40 g   [mg]
x) 560s    [ h; min; s]
y) 5,4 mm   [cm]
z) 20 dm2   [m2]
{) 5 100 m3   [km3]
a) 5 800 mg   [g]
b) 48d 3h     [ h]
c) 64,4 m   [km]

d) 0,36 m2   [km2]
e) 0,6 km3   [m3]
f) 6,05 kg   [g]
g) 825min    [ d; h; min]
h) 0,3 m   [km]
i) 19,7 km2   [m2]
j) 280 m3   [km3]
k) 0,01 mg   [g]
l) 13h 34min 57s    [ s]
m) 0,9 km   [m]

n) 0,2 km2   [m2]
o) 2,13 m3   [km3]
p) 6 400 g   [mg]
q) 474h    [ d; h]
r) 52 000 m   [km]
s) 1,4 dm2   [m2]
t) 900 dm3   [m3]
u) 80,4 t   [kg]
v) 13d 6h 41min    [ min]
w) 0,07 km   [dm]

x) 18 900 cm2   [dm2]
y) 0,65 km3   [m3]
z) 0,2 mg   [g]
{) 698d    [ r; d]
a) 8 700 mm   [cm]
b) 70 m2   [cm2]
c) 70 100 cm3   [m3]
d) 0,66 t   [kg]
e) 3r 69d     [ d]
f) 10 900 dm   [m]

g) 0,63 mm2   [dm2]
h) 500 mm3   [cm3]
i) 5,29 t   [kg]
j) 743s    [ h; min; s]
k) 0,09 m   [mm]
l) 2,74 cm2   [mm2]
m) 3,6 m3   [km3]
n) 0,01 kg   [t]
o) 25d 14h     [ h]
p) 370 dm   [cm]

q) 50 dm2   [cm2]
r) 78,7 km3   [m3]
s) 8,1 mg   [g]
t) 931min    [ d; h; min]
u) 1,56 mm   [m]
v) 0,78 m2   [km2]
w) 0,02 mm3   [m3]
x) 46,2 t   [kg]
y) 11h 58min 46s    [ s]
z) 0,6 dm   [km]

{) 5,19 km2   [m2]
a) 1 km3   [m3]
b) 0,9 mg   [g]
c) 560h    [ d; h]
d) 5,4 mm   [cm]
e) 20 dm2   [m2]
f) 5 100 m3   [km3]
g) 5 800 mg   [g]
h) 18d 3h 56min    [ min]
i) 87,3 m   [cm]

j) 640 dm2   [mm2]
k) 40 m3   [km3]
l) 1,08 mg   [g]
m) 1500d    [ r; d]
n) 0,3 m   [km]
o) 19,7 km2   [m2]
p) 280 m3   [km3]
q) 0,01 mg   [g]
r) 3r 207d     [ d]
s) 130 m   [mm]

t) 0,06 m2   [km2]
u) 8,44 m3   [mm3]
v) 0,91 kg   [g]
w) 601s    [ h; min; s]
x) 1,58 dm   [km]
y) 230 m2   [km2]
z) 0,07 m3   [cm3]
{) 1,99 t   [kg]
a) 8d 18h     [ h]
b) 0,09 km   [m]

c) 4,42 dm2   [m2]
d) 0,17 cm3   [dm3]
e) 900 g   [kg]
f) 639min    [ d; h; min]
g) 780 m   [cm]
h) 0,9 m2   [cm2]
i) 29,9 cm3   [mm3]
j) 4 000 kg   [g]
k) 14h 12min 31s    [ s]
l) 45,3 km   [m]

m) 0,27 mm2   [dm2]
n) 400 m3   [km3]
o) 8,95 t   [kg]
p) 723h    [ d; h]
q) 0,1 dm   [m]
r) 60,6 m2   [km2]
s) 800 m3   [dm3]
t) 300 mg   [g]
u) 13d 16h 56min    [ min]
v) 330 m   [km]

w) 0,04 mm2   [dm2]
x) 90,5 cm3   [dm3]
y) 4 700 g   [mg]
z) 887d    [ r; d]
{) 8 210 cm   [dm]
a) 7 600 m2   [cm2]
b) 0,7 mm3   [cm3]
c) 7,95 g   [mg]
d) 3r 120d     [ d]
e) 0,6 m   [dm]

f) 9 520 m2   [dm2]
g) 6 100 m3   [dm3]
h) 0,4 kg   [t]
i) 522s    [ h; min; s]
j) 3,5 km   [dm]
k) 50 m2   [km2]
l) 4,24 mm3   [dm3]
m) 0,43 t   [kg]
n) 36d 22h     [ h]
o) 6,84 m   [km]



Výsledky:
a) 2 600 m2 = 2 600 000 000 mm2

b) 0,09 km3 = 90 000 000 m3

c) 4,59 mg = 0,004 59 g
d) 495h    [ d; h]= 20d 15h
e) 0,1 cm = 1 mm
f) 14 100 mm2 = 0,014 1 m2

g) 460 mm3 = 0,000 46 dm3

h) 0,2 kg = 200 g
i) 7d 18h 4min    [ min]= 11 164min
j) 370 dm = 3 700 cm

k) 50 dm2 = 5 000 cm2

l) 78,7 km3 = 78 700 000 000 m3

m) 8,1 mg = 0,008 1 g
n) 1664d    [ r; d]= 4r 204d
o) 1,56 mm = 0,001 56 m
p) 0,78 m2 = 0,000 000 78 km2

q) 0,02 mm3 = 0,000 000 000 02 m3

r) 46,2 t = 46 200 kg
s) 3r 358d     [ d]= 1 453d
t) 0,5 km = 5 000 dm

u) 6 080 mm2 = 60,8 cm2

v) 0,85 cm3 = 0,000 000 85 m3

w) 40 g = 40 000 mg
x) 560s    [ h; min; s]= 9min 20s
y) 5,4 mm = 0,54 cm
z) 20 dm2 = 0,2 m2

{) 5 100 m3 = 0,000 005 1 km3

a) 5 800 mg = 5,8 g
b) 48d 3h     [ h]= 1 155h
c) 64,4 m = 0,064 4 km

d) 0,36 m2 = 0,000 000 36 km2

e) 0,6 km3 = 600 000 000 m3

f) 6,05 kg = 6 050 g
g) 825min    [ d; h; min]= 13h 45min
h) 0,3 m = 0,000 3 km
i) 19,7 km2 = 19 700 000 m2

j) 280 m3 = 0,000 000 28 km3

k) 0,01 mg = 0,000 01 g
l) 13h 34min 57s    [ s]= 48 897s
m) 0,9 km = 900 m

n) 0,2 km2 = 200 000 m2

o) 2,13 m3 = 0,000 000 002 13 km3

p) 6 400 g = 6 400 000 mg
q) 474h    [ d; h]= 19d 18h
r) 52 000 m = 52 km
s) 1,4 dm2 = 0,014 m2

t) 900 dm3 = 0,9 m3

u) 80,4 t = 80 400 kg
v) 13d 6h 41min    [ min]= 19 121min
w) 0,07 km = 700 dm

x) 18 900 cm2 = 189 dm2

y) 0,65 km3 = 650 000 000 m3

z) 0,2 mg = 0,000 2 g
{) 698d    [ r; d]= 1r 333d
a) 8 700 mm = 870 cm
b) 70 m2 = 700 000 cm2

c) 70 100 cm3 = 0,070 1 m3

d) 0,66 t = 660 kg
e) 3r 69d     [ d]= 1 164d
f) 10 900 dm = 1 090 m

g) 0,63 mm2 = 0,000 063 dm2

h) 500 mm3 = 0,5 cm3

i) 5,29 t = 5 290 kg
j) 743s    [ h; min; s]= 12min 23s
k) 0,09 m = 90 mm
l) 2,74 cm2 = 274 mm2

m) 3,6 m3 = 0,000 000 003 6 km3

n) 0,01 kg = 0,000 01 t
o) 25d 14h     [ h]= 614h
p) 370 dm = 3 700 cm

q) 50 dm2 = 5 000 cm2

r) 78,7 km3 = 78 700 000 000 m3

s) 8,1 mg = 0,008 1 g
t) 931min    [ d; h; min]= 15h 31min
u) 1,56 mm = 0,001 56 m
v) 0,78 m2 = 0,000 000 78 km2

w) 0,02 mm3 = 0,000 000 000 02 m3

x) 46,2 t = 46 200 kg
y) 11h 58min 46s    [ s]= 43 126s
z) 0,6 dm = 0,000 06 km

{) 5,19 km2 = 5 190 000 m2

a) 1 km3 = 1 000 000 000 m3

b) 0,9 mg = 0,000 9 g
c) 560h    [ d; h]= 23d 8h
d) 5,4 mm = 0,54 cm
e) 20 dm2 = 0,2 m2

f) 5 100 m3 = 0,000 005 1 km3

g) 5 800 mg = 5,8 g
h) 18d 3h 56min    [ min]= 26 156min
i) 87,3 m = 8 730 cm

j) 640 dm2 = 6 400 000 mm2

k) 40 m3 = 0,000 000 04 km3

l) 1,08 mg = 0,001 08 g
m) 1500d    [ r; d]= 4r 40d
n) 0,3 m = 0,000 3 km
o) 19,7 km2 = 19 700 000 m2

p) 280 m3 = 0,000 000 28 km3

q) 0,01 mg = 0,000 01 g
r) 3r 207d     [ d]= 1 302d
s) 130 m = 130 000 mm

t) 0,06 m2 = 0,000 000 06 km2

u) 8,44 m3 = 8 440 000 000 mm3

v) 0,91 kg = 910 g
w) 601s    [ h; min; s]= 10min 1s
x) 1,58 dm = 0,000 158 km
y) 230 m2 = 0,000 23 km2

z) 0,07 m3 = 70 000 cm3

{) 1,99 t = 1 990 kg
a) 8d 18h     [ h]= 210h
b) 0,09 km = 90 m

c) 4,42 dm2 = 0,044 2 m2

d) 0,17 cm3 = 0,000 17 dm3

e) 900 g = 0,9 kg
f) 639min    [ d; h; min]= 10h 39min
g) 780 m = 78 000 cm
h) 0,9 m2 = 9 000 cm2

i) 29,9 cm3 = 29 900 mm3

j) 4 000 kg = 4 000 000 g
k) 14h 12min 31s    [ s]= 51 151s
l) 45,3 km = 45 300 m

m) 0,27 mm2 = 0,000 027 dm2

n) 400 m3 = 0,000 000 4 km3

o) 8,95 t = 8 950 kg
p) 723h    [ d; h]= 30d 3h
q) 0,1 dm = 0,01 m
r) 60,6 m2 = 0,000 060 6 km2

s) 800 m3 = 800 000 dm3

t) 300 mg = 0,3 g
u) 13d 16h 56min    [ min]= 19 736min
v) 330 m = 0,33 km

w) 0,04 mm2 = 0,000 004 dm2

x) 90,5 cm3 = 0,090 5 dm3

y) 4 700 g = 4 700 000 mg
z) 887d    [ r; d]= 2r 157d
{) 8 210 cm = 821 dm
a) 7 600 m2 = 76 000 000 cm2

b) 0,7 mm3 = 0,000 7 cm3

c) 7,95 g = 7 950 mg
d) 3r 120d     [ d]= 1 215d
e) 0,6 m = 6 dm

f) 9 520 m2 = 952 000 dm2

g) 6 100 m3 = 6 100 000 dm3

h) 0,4 kg = 0,000 4 t
i) 522s    [ h; min; s]= 8min 42s
j) 3,5 km = 35 000 dm
k) 50 m2 = 0,000 05 km2

l) 4,24 mm3 = 0,000 004 24 dm3

m) 0,43 t = 430 kg
n) 36d 22h     [ h]= 886h
o) 6,84 m = 0,006 84 km


